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Catalyst 3750 Switch Stack A

3750switchstackA (config) #interface range gigabitethernet
1/0/4 - 5

3750switchstackA (config-if-range) #channel-group 1 mode
on

!--- This command creates the port channel 1 interface.

EtherChannel Z1Z|12|0|A



Because the mode !--- is configured ON, both the PAgP
and LACP are disabled on these ports. !--- Issue the
channel-group command first, before you enter any other
commands on these !'--- interfaces. Any commands that you
issue on these interfaces after you issue the !---
channel-group command are added to the port channel
interface automatically. !--- If you configure the port
with all the commands and you issue the channel-group !-
-- command last, the port channel interface is created
but does not have any !--- configurations. You must then
add the other commands to the port channel interface !--
- manually.

3750switchstackA (config-if-range) #switchport trunk
encapsulation dotlg
3750switchstackA (config-if-range) #switchport mode trunk

3750switchstackA (config) #interface gigabitethernet 3/0/3
3750switchstackA (config-if) #channel-group 1 mode on
3750switchstackA (config-if) #switchport trunk
encapsulation dotlg

3750switchstackA (config-if) #switchport mode trunk

Catalyst 3750 Switch Stack B

3750switchstackB(config) #interface range gigabitethernet
1/0/2 - 4

3750switchst (config-if-range) #channel-group 1 mode on
3750switchst (config-if-range) #switchport

3750switchst (config-if-range) #switchport trunk
encapsulation dotlg

3750switchst (config-if-range) #switchport mode trunk
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3750switchstackA#show interfaces port-channel 1

Port-channell is up, line protocol is up (connected)
Hardware is EtherChannel, address is 0015.c6c¢1.3003 (bia 0015.c6c¢1.3003)
MTU 1500 bytes, BW 300000 Kbit, DLY 100 usec,
reliability 255/255, txload 1/255, rxload 1/255
Encapsulation ARPA, loopback not set
Full-duplex, 100Mb/s, link type is auto, media type is unknown
input flow-control is off, output flow-control is unsupported
Members in this channel: Gil1l/0/4 Gil/0/5 Gi2/0/3
ARP type: ARPA, ARP Timeout 04:00:00
Last input 00:00:01, output 00:07:06, output hang never
Last clearing of "show interface" counters never
Input queue: 0/75/0/0 (size/max/drops/flushes); Total output drops: 0
Queueing strategy: fifo
Output queue: 0/40 (size/max)
5 minute input rate 1000 bits/sec, 2 packets/sec
5 minute output rate 0 bits/sec, 0 packets/sec
2080 packets input, 191872 bytes, 0 no buffer
Received 1638 broadcasts (0 multicast)
0 runts, 0 giants, 0 throttles
0 input errors, 0 CRC, 0 frame, 0 overrun, 0 ignored
0 watchdog, 1616 multicast, 0 pause input
0 input packets with dribble condition detected
3242 packets output, 261916 bytes, 0 underruns
0 output errors, 0 collisions, 7 interface resets
0 babbles, 0 late collision, 0 deferred



0 lost carrier, 0 no carrier, 0 PAUSE output
0 output buffer failures, 0 output buffers swapped out

3750switchstackA#show etherchannel summary

- unsuitable for bundling
- waiting to be aggregated
- default port

Flags: D - down P - in port-channel
I - stand-alone s - suspended
H - Hot-standby (LACP only)
R - Layer3 S - Layer?2
U - in use f - failed to allocate aggregator
u
w
d

Number of channel-groups in use: 1

Number of aggregators: 1

Group Port-channel Protocol Ports

—————— o e
1 Pol (SU) - Gil/0/4 (p) Gil/0/5(P) Gi2/0/3(P)

&1 o] ool M= PAGPE A& 3104 EtherChannel2 T+ A5t2{1 & I EAlZlEs 2F HAIXIE E
04 ELICt.

Catalyst 3750 Switch Stack A

3750switchstackA (config) #interface range gigabitethernet
1/0/4 - 5

3750switchstackA (config-if-range) #channel-group 1 mode
desirable

3750switchstackA (config-if-range) #switchport trunk
encapsulation dotlqg

3750switchstackA (config-if-range) #switchport mode trunk

3750switchstackA (config) #interface gigabitethernet 3/0/3
3750switchstackA (config-if) #channel-group 1 mode
desirable

%With PAgP enabled, all ports in the Channel should
belong to the same switch

Command rejected (Port-channell, Gi2/0/3): Invalid
etherchnl mode

LACPE A& 3104 Cross-Stack EtherChannel 743
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Catalyst 3750 Switch Stack A

3750switchstackA (config) #interface range gigabitethernet

1/0/4 - 5
3750switchstackA (config-if-range) #ichannel-group 1 mode
active

!--- This creates port channel 1 and configures it with
LACP. 3750switchstackA (config-if-range) #switchport trunk
encapsulation dotlg




3750switchstackA (config-if-range) #switchport mode trunk

3750switchstackA (config) #interface gigabitethernet 3/0/3
3750switchstackA (config-if) #channel-group 1 mode active
3750switchstackA (config-if) #switchport trunk
encapsulation dotlg

3750switchstackA (config-if) #switchport mode trunk

Catalyst 3750 Switch Stack B

3750switchstackB(config) #interface range gigabitethernet
1/0/2 - 4

3750switchst (config-if-range) #channel-group 1 mode
active

3750switchst (config-if-range) #switchport trunk
encapsulation dotlg

3750switchst (config-if-range) #switchport mode trunk
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3750switchstackA#show interfaces port-channel 1

Port-channell is up, line protocol is up (connected)
Hardware is EtherChannel, address is 0015.c6c1.3003 (bia 0015.c6c1.3003)
MTU 1500 bytes, BW 300000 Kbit, DLY 100 usec,
reliability 255/255, txload 1/255, rxload 1/255
Encapsulation ARPA, loopback not set
Full-duplex, 100Mb/s, link type is auto, media type is unknown
input flow-control is off, output flow-control is unsupported
Members in this channel: Gil1/0/4 Gil/0/5 Gi2/0/3
ARP type: ARPA, ARP Timeout 04:00:00
Last input 00:00:01, output 00:01:09, output hang never
Last clearing of "show interface" counters never
Input queue: 0/75/0/0 (size/max/drops/flushes); Total output drops: 0
Queueing strategy: fifo
Output queue: 0/40 (size/max)
5 minute input rate 1000 bits/sec, 1 packets/sec
5 minute output rate 0 bits/sec, 0 packets/sec
2628 packets input, 236478 bytes, 0 no buffer
Received 2112 broadcasts (0 multicast)
0 runts, 0 giants, 0 throttles
0 input errors, 0 CRC, 0 frame, 0 overrun, 0 ignored
0 watchdog, 2090 multicast, 0 pause input
0 input packets with dribble condition detected
3398 packets output, 280241 bytes, 0 underruns
output errors, 0 collisions, 7 interface resets
babbles, 0 late collision, 0 deferred
lost carrier, 0 no carrier, 0 PAUSE output

o O O o

output buffer failures, 0 output buffers swapped out

3750switchstackA#show etherchannel 1 summary

Flags: D - down P - in port-channel
I - stand-alone s - suspended
H - Hot-standby (LACP only)
R - Layer3 S - Layer?2
U - in use f - failed to allocate aggregator
u - unsuitable for bundling
w - waiting to be aggregated
d - default port



Number of channel-groups in use: 1

Number of aggregators: 1

Group Port-channel Protocol Ports

—————— o e
1 Pol (SU) LACP Gil/0/4(P) Gil/0/5(P) Gi2/0/3(P)

CtZ ofl0d M= passive-active ZE LACP Z4I|12{|0|MHME 2 0{&LICt
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3750switchstackA (config) #interface range gigabitethernet
1/0/4 - 5

3750switchstackA (config-if-range) #channel-group 1 mode
passive

3750switchstackA (config-if-range) #switchport trunk
encapsulation dotlqg

3750switchstackA (config-if-range) #switchport mode trunk

3750switchstackA (config) #interface gigabitethernet 3/0/3
3750switchstackA (config-if) #channel-group 1 mode passive
3750switchstackA (config-if) #switchport trunk
encapsulation dotlqg

3750switchstackA (config-if) #switchport mode trunk

Catalyst 3750 Switch Stack B

3750switchstackB(config) #interface range gigabitethernet
1/0/2 - 4

3750switchst (config-if-range) #channel-group 1 mode
active

3750switchst (config-if-range) #switchport trunk
encapsulation dotlqg

3750switchst (config-if-range) #switchport mode trunk

CtS 10l 22 WO 2 EtherChannel 24 EHE &0 &~ Ql&LICE.
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3750switchstackA#show interfaces port-channel 1

Port-channell is up, line protocol is up (connected)
Hardware is EtherChannel, address is 0015.63f6.b704 (bia 0015.63f6.b704)
MTU 1500 bytes, BW 300000 Kbit, DLY 100 usec,
reliability 255/255, txload 1/255, rxload 1/255
Encapsulation ARPA, loopback not set
Full-duplex, 100Mb/s, link type is auto, media type is unknown
input flow-control is off, output flow-control is unsupported
Members in this channel: Gil/0/4 Gil/0/5 Gi2/0/3
ARP type: ARPA, ARP Timeout 04:00:00
Last input 00:00:00, output 00:07:33, output hang never
Last clearing of "show interface" counters never
Input queue: 0/75/0/0 (size/max/drops/flushes); Total output drops: 0
Queueing strategy: fifo
Output queue: 0/40 (size/max)
5 minute input rate 1000 bits/sec, 2 packets/sec
5 minute output rate 0 bits/sec, 0 packets/sec
3436 packets input, 302216 bytes, 0 no buffer
Received 2807 broadcasts (0 multicast)
0 runts, 0 giants, 0 throttles
0 input errors, 0 CRC, 0 frame, 0 overrun, 0 ignored
0 watchdog, 2785 multicast, 0 pause input



0 input packets with dribble condition detected

3632 packets output, 306875 bytes, 0 underruns

0 output errors, 0 collisions, 7 interface resets
babbles, 0 late collision, 0 deferred

0 lost carrier, 0 no carrier, 0 PAUSE output

0 output buffer failures, 0 output buffers swapped out

o

3750switchstackA#show etherchannel 1 summary

- unsuitable for bundling
- waiting to be aggregated
- default port

Flags: D - down P - in port-channel
I - stand-alone s - suspended
H - Hot-standby (LACP only)
R - Layer3 S - Layer?2
U - in use f - failed to allocate aggregator
u
w
d

Number of channel-groups in use: 1

Number of aggregators: 1

Group Port-channel Protocol Ports

—————— o e
1 Pol (SU) LACP Gil/0/4(P) Gil/0/5(P) Gi2/0/3(P)
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- show etherchannel [channel-group-number] summary
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